

Sana Alwadeh Sim

Mechatronics Engineering

161EMG051030

$$D \text{ If } y = e^{x^2+x}$$

$$\frac{dy}{dx} = y' = 2x+1 (e^{x^2+x})$$

$$y'' = \frac{d^2y}{dx^2} = (2x+1) (e^{x^2+x}) (2x+1) + (e^{x^2+x}) (2) \quad \circ$$

Putting (1) and (2) into (3)

$$y'' = y' (2x+1) + y (2)$$

$$y'' = y' (2x+1) + 2y$$

$$y'' - y' (2x+1) - 2y = 0$$

$$w_1 = y''$$

$$u^0 = y'' , u^1 = y'' , u^n = y^{n+2}$$

$$v^0 = 1 , v^1 = 0$$

$$w_1^{(n)} = u^n v^0 + n u^{(n-1)} v^1$$

$$w_1^{(n)} = y^{n+2} (1) + n y^{(n+1)} (0) = y^{n+2}$$

$$w_{11} = y' (2x+1)$$

$$v^0 = 2x+1 , v^1 = 2$$

$$u^0 = y' , u^1 = y'' , u^n = y^{n+1}$$

$$w_{11}^{(n)} = u^n v^0 + n u^{(n-1)} v^1$$

$$w_{11}^{(n)} = y^{n+1} (2x+1) + n y^n (2)$$

$$w_{11}^{(n)} = (2x+1) y^{n+1} + 2n y^n$$

$$w_{111} = y$$

$$u^0 = y^0$$

$$u^n = y^n$$

$$v^0 = 1$$

$$w_{111}^{(n)} = y^n v^0 = y^n (1) = y^n$$

$$W_{II}^{(n)} + W_{III}^{(n)} + W_{IV}^{(n)} = 0$$

$$y^{n+2} - (2x+1)y^{n+1} - 2ny^n + 2y^n = 0$$

$$y^{n+2} - (2x+1)y^{n+1} + y^n(2n-2) = 0$$

$$y^{n+2} - (2x+1)y^{n+1} - 2(n-1)y^n = 0$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n-1)y^n$$

2) Using the Leibnitz theorem, given that

1) $y = x^3 e^{4x}$, determine $y^{(5)}$

Solution:

$$y = x^3 e^{4x}, \quad y^{(5)} = ?$$

$$u^0 = e^{4x}, \quad u^1 = 4e^{4x}, \quad u^2 = 16e^{4x}, \quad u^3 = 64e^{4x}$$

$$u^{(4)} = 4^4 e^{4x}; \quad u^{(n)} = 4^n e^{4x}$$

$$v^0 = x^3, \quad v^1 = 3x^2, \quad v^2 = 6x, \quad v^{(3)} = 6$$

$$y^{(n)} = {}^n C_0 u^5 v^0 + {}^n C_1 u^{n-1} v^1 + {}^n C_2 u^{n-2} v^2 + \dots + {}^n C_n u^0 v^{(n)}$$

$$y^{(5)} = {}^5 C_0 u^5 v^0 + {}^5 C_1 u^4 v^1 + {}^5 C_2 u^3 v^2 + {}^5 C_3 u^2 v^3 + {}^5 C_4 u^1 v^{(4)} + {}^5 C_5 u^0 v^{(5)}$$

$$y^{(5)} = u^5 v^0 + 5u^4 v^1 + 10u^3 v^2 + 10u^2 v^3 + 5u^1 v^{(4)} + v^{(5)}$$

$$y^{(5)} = 4^5 e^{4x} x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + 10 \cdot 4^3 e^{4x} \cdot 6x + 10 \cdot 4^2 e^{4x} \cdot 6 + 5 \cdot 4 e^{4x} \cdot 60$$

$$y^{(5)} = 4^5 x^3 e^{4x} + 15 \cdot 4^4 x^2 e^{4x} + 60 \cdot 4^3 x e^{4x} + 60 \cdot 4^2 e^{4x}$$

$$y^{(5)} = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^{(5)} = e^{4x} [1024 x^3 + 3840 x^2 + 3840 x + 960]$$

$$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0 \text{ Show that}$$

$$x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2+1)y^n = 0$$

Solution

$$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + xy' + y = 0$$

$$W_1 = x^2 y''$$

$$V^0 = x^2, V^1 = 2x, V^2 = 2$$

$$U^0 = y^2, U^1 = y^3, U^2 = y^4, U^n = y^{n+2}$$

$$W_1^{(n)} = U^n V^0 + n U^{n-1} V^1 + \frac{n(n-1)}{2!} U^{n-2} V^2$$

$$W_1^{(n)} = y^{(n+2)}(x^2) + n y^{n+1}(2x) + \frac{n(n-1)}{2} y^n(2)$$

$$W_1^{(n)} = x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^n$$

$$W_{11} = xy'$$

$$V^0 = x, V^1 = 1$$

$$U^0 = y^1, U^1 = y^2, U^n = y^{n+1}$$

$$W_{11}^{(n)} = U^n V^0 + n U^{n-1} V^1$$

$$W_{11}^{(n)} = y^{n+1}(x) + n(y^n)(1) = xy^{n+1} + ny^n$$

$$W_{111} = y^0$$

$$U^0 = y^0, U^n = y^n$$

$$W_{111}^{(n)} = y^n$$

$$W_1^{(n)} + W_{11}^{(n)} + W_{111}^{(n)} = 0$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^n + xy^{n+1} + ny^n + y^n = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [2n+1]x + y^n [n(n-1) + n+1] = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [2n+1]x + y^n [n^2 - n + n + 1] = 0$$

$$x^2 y^{(n+2)} + y^{(n+1)} [2n+1]x + y^n [n^2 + 1] = 0$$

$$x^2 y^{(n+2)} = -y^{(n+1)} [2n+1]x - y^n (n^2+1)$$

$$x^2 y^{(n+2)} + x y^{(n+1)} (2n+1) + (n^2+1)y^n = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1)y^n = 0 .$$